2018-2019 224E FHIIEE — IR A Z RSB

—. HTH

1. 78 77 BAEMUKAE BRI T RNEE 3)
2. A, 5000, #fEif

3. 2.8X10%. 40000, ¥
4, FRPEATAH RG] FFEE
5.4, 6

6. bl c. HIEEEL

= A

7. D

8. D

9. C

10. D

11. D

12. B

13. CD

14, CD

=. fEEE

15\




16

iR R LB (S P] LA RIGE, (R FR R A 0 SR BR BB, R B IE AT R B AV E R A IR URTE Lo
HHImEN T, B R E AN E AR TS
A

SRETHERIVGERNERA AR B SHKBERA —FRMKREOTETRR
BB, PR S TRIER B 2RISR A

17. (D OFtE. WA EME @K, 59
(2) AH%E. FhEiR

18, (1) L1 Wit
(2) I=lg+;
(3) AR KNI, 2.
(4 Fi%

(5) K- (
19.

(D

(2) B

(3) £, HER



#'-fu .

B M B aes 8@

(5) £ FL By o L T — S B, e PR BEL Ay R 5 i BEL D PELAE A S B
Ty ZRE N

20\

fig:
(1)7K7E10hAIRURAIFRE

Qg =cmAt=4.2x10%J/ (kg*°C) x100kgx50°C=2.1x10"J
(2) HBEEH:

Q 3#=Va=Q=2.1x10"J, V=Q/q=2.1x10"J/8.4x10"J/m*=0.25m"
(3)10h K BRAEZK 23 IR UK AY K PRAERY B & -

Q 4.=1.68x10°J/ (m*h) x2.5m*x10h=4.2x10"J,

N=Q 5 /Q 3 x100%=2.1x 107J/4.2x107Jx100%=50%.
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S 10080m

B V= t - 480s

= 2lm/s .

BIRNETRIERER 21m/s .

_ 63x10°W

o P SN
(QNEBSIN F= = —— = 3.0x10°N .

BRFETREEMNESINR 3.0x10°N .

QYIS FETIEIZFTIAITL: W = Pt = 63x10°Wx 480s = 3.024x 107.J ,
SEFERSRAIRE: m = pV= 0.8x10°kg/m*x3x10*m* = 2.4kg ,
HRRSEEMIRIERE: Q = gm = 3.15x107.J/kgx 2.4kg = 7.56x10°.J

. _ N W 3.024x107.J
BAEADNNBRZ 1= — =

=———"=40%.
Q 7.56x10°.J '

BINERDAEERE 10% .



